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. - HIGHER SECONDARY EDUCATION

HALF YEARLY EXAMINATION 2017

HSE (1)
PART I
ECONOMICS
Maximum : 80 Scores
Time: 2 hrs
Cool off time : 15 Minutes
General Instructions to candidates: \

o Thereis a'Cool offtime' of 15 minute in addition to the writing time of 24 hours. -

o Usethe'cool off time' to get familiar with questions and to plan your answers.

0 Read the questions carefully before answering

o Calculations, figures and graphs should be shown in the answer sheet itself,

0 Malayalam version of the questions is also provided.

o Give equations wherever necessary

o Electronic devices except nonprogrammable calculators are not allowed in the Examination Hall.
DalomMIAC3U6BRU3

o Middlais mvaomlal aosa 15 Mg ‘@08 80al BOS0’ eMROWIBlHe)0.

¢ QOMOEBURB o) Q)OMIM@IM DM GalOBLEBUW (AOANBQ AWBeEMo.

¢ DEMBS BGENGUB, AllOBBUB, [N0aD)BHUB, ag)amal DO OCalaOITBOMHM Qereowiclansmo.
o GalOBMBU3 DAIDOSEDIEN0 MTBISIWIGeNE,

¢ @DAURIMSS TUNLICT) TVAUISYEIBUB HB0S)HNEMo

¢ GlLIONODHUE H2IGOMIBOTD HOMHNCEIYO)H:(3 RFIOH®HWBS B0} WMEISESIMIE:; Daldh
\ Mo ald1emoanI8I0d HalGWIUilendd alsle). /

Answer all questions from 1 to 9. Each question carries 1 score.
(1 ;yoad 9 avow)as ageld caaymeuien) pomesasyma. 1 MSedrd anmo)

Give the economic term for the following. IDY HMHISIOMISBBUW A ERMCWIRY

DI AVINIAD B 130 Af)P}D}d>,

1. Thefraction of deposits that commercial banks | 1. cuoemlmemioms3, @@ olavdal
must keep with RBIL OSB3 VU] 2 flOIGHNME MCHMal

oIeMR BOWo.

2. Themonetary policyinstrumentused byRBIto | 2. snioany @meenmendd 2)2l0 HNaNAIGAUGWS

keep the stock of high powered money alemomilond apgalled 2000 AEOGIBIee)
unchanged from external shocks. m@Imow] RBI quilax:@leanyam alsmmo pal
B06Mo.
3. The point at which Price = Shortrun Average 3. ala = (aoauiasoel oowd] ealeldl ag)am
Cost iscalled .......... enflmyaileom ........... ag)am) afiglee)am).
4. Theinvestment made by govt. irrespective of | 4. QIO2IMIM}TVIBALIOD) NAL. MSCIH AN
the level of incomeis called ..... @) e1WMm M1GHHalRoMmY......
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5. “An individual producer under perfect | 5. “cvoum@ep HIsAOVO BHETUOIBODHIGI
competition cannot influence the market price”. QYEDIN® DLIalOBHM £HETUOS alleio®
Which feature of perfect competition is aLWINe90M HEIVI1LL.” @D (aITS®O
mentioned in the statement. QUM AVMNABELR BHISAONO HEAUOIBOBIHW

aB® (AJEDYB@OEM V)allaflen)an .
6.  Which one of the following is true regarding | 6. €06506MaMV PalEEONANAOV] MIMWOQ|S
autonomous consumption. ®06% alOWIMAUVITE VBIWIW (alTE®O

a) Atzero level of income consumption is QIM af) P>,

negative a) QIEYAOMO aljRYDOBIGMUOUB
b) At zero level of income consumption is DaleROWo HMWQTAUoeM

positive b) QIE}@OMo Al}ERYROBIBTUOU
c) At zero level of income consumption is DaleEoWo GalomvlQlaiosmy

zero C) QUOIDOIMo aljRLADBHIGTUIUB
d) None of the above DalGROWO al)RYAO6M.

d) DauwIcd aamaegy,.
7. Whichone of the following factors willleadto | 7. ©069 ©8:05)01G1E0}MAUWIGE G cals
arise in the price of commodity in the market. SHR06M B30 TLOWMEHIO aleslod adry
MmaNa) $00eMA0H:IaNG).
a) The price of'its substitute falls a) (aJlauNoaiMmauTimaflen aleiIcd
DENBOBIAM 53001
b) The price of its complementary rises b) anesaTimallend alleiwlensmeos,)yan
aidavpmal
¢) The demand for the commodity falls C) HHCMUOBOMIGE @R AUV Galo3
MO ARENBOB:YN &)00l
d) The supply of the commodity falls d) scmiogomlcd @y AT®)aileng (al30
. ) MOENROEHIAN &00l.

8. Asellerunder perfect competition sells 10units | o alBEM &S BEN OIS By ANG3alMEed
of a commodity at Rs.10 each. Calculate MR @M@ 10 @MY PGB0 10 Byt MOHE3
when he sells 11% unit. A@H9)aM). 11-02060C @eMIG alGdss)

emMUdUB3 iEleemm aVIROTNAUBIROMO H:6)6TTR

9.  Theincome of an economy increases by Rs. @D,

120 crores as a result of an increase in govt. | 9+  PUMORF BOEZMAMS HalLIQl 40 G208

autonomous expenditure by Rs. 40 crores. Adavlajeeowd 80} MuMIGAlAITUNDIHE)

Find out output multiolier. QIOYBOMo 120 GHOSIWOWV] ULl pOSIE3,
P P DGIINUNETNH0 HOETTROIN)D>.

10. 6080 ‘ag)’ G080 ‘enil’ @201 Gald)o

10. Match Column B with A. (1 score each) a1S] GaIBBe)d. ( 80EEOMIM)o 1 M5EE03

B A almo)
a.| Revenue receipts Construction of road by B A
government oo aweal  |oasdeandlend endaw’ mldademoe

b. | Capital receipts Salary of govt. employees b.| agawm aedl |oamean Rmendoniss wmIgo

¢. | Revenue expenditure|Sale of shares of public sector c.| ouml faeid |0adm] AGURID MUOIalM 6B
' undertaking 83605 81a0@ Q@AM

d.| Capital expenditure |Goods and service tax (GST) d.| aawn espal| 2eea3 smam mlezm (GST)
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ANCARR A

11.

12.

13.

14.

15.

Answer all questions from 11 to 15. Each question carries 2 score.
(11 aymad 1S a1Ivewas Ag)ld GalIa3ERU3eN)0 DOMOSDLIM)d:. 2 MIGHO3  anNmo)

L]

Categorize the following under public goods
and private goods.

Light house, car, clothe, national defence.

Inthelong run, a firm under perfect competition
cannot eam abnormal profit. State the reason.

State any two factors that cause aleft ward shift
of supply curve of a firm.

Prove that the balanced budget multiplier is
always equal to one.

Issue of currency (High powered money) worth
Rs. 2000 cores by RBI leads to an increase in
the money supply by Rs. 8,000 cores.

Define money multiplier and find out the value
of it from the above statement.

11.

12.

13.

14.

15.

@IO® ©BHIS;OMNIBIEN) MM AUNY HaldD)
QM ONBOUB, TLIBHOVY AIATTONBOUB ag)a™)
™o ®G186)ds.

OORIg 20DV, &00Q, AUTV(@o, GRUIW
(ad@1GOOWo

al)@6[R S1SAOTLO HETUISOTO ©Eiald
B8 WEMIGIAT 3130LIG0LIGOHE BRIV
WOOEM 21080 GMSOM H¥1We). &H00eMo
ag) LY.

80) REialoBs WEMIFIHg (aIBOM Qi(do
DSCOMOF ROOJANIMY HOVEMNDOB YA
QNE LIS HHEEBUS (Al MO8 .
ENIDRIBAVAL 6NITRY DM B0 af)GaldPI0
‘ean’ ap1oleaHa HMSIWH6) b,
2,000/- @081 0)al@Hs BHOMIV] (06a0
aleaidal aeml) RBI @pslajflossloocsHd
02201 cvmid ceIsMEIGE aléem (al30
moolead @rgal 8,000/- esoslwom)
QI@anla)).

alemeMmdo MBQIalla] ca3almimonl
MIGE WMo @GOG D)Lljo HeES
O

Answer any five of the foloowing questions. Each question carries 3 score.
(agoms1eo @RemI G210316MU3AS DOMONBYIM®:. 3 AVEHI3  arnN®o)

16. Classify the following under stabilization, and

allocation functions of the government.

a) Rs. 10,000 for railway electrification

b) Change in banking polices to address
issues on recession

c) Increasein direct tax rates.
d) Plan Expenditure for education
e) Increase indefence expenditure.

f) Economic packageto enhance aggregate
demand.
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16.

DIOY HHIS}OTFBSSAUHW NAUMBHDAF]

O3 OARMIOOLIGTVAHMD, FRELINEHHY

ag)(am’ WA MBS0V 0o BB .

a) 10,000 o)at 600IGEOU HOQUBYIT
HOEM O

b) auomMuOmIE @OMWY (AIBMEBBUB aId)
anBISNM@IMBS  TUOES10U) MW
@20Q 63303

C) (DI AHUMIDO]
aidrbmal :

d) aiByosioTVEIMBS AL Halelal

e) (umcoow salaiaflenss caudrvmal

) arweng alaodd adavlafleso
MBS TLOMUOH D> IOCHE .

osslenss



17. a) Define price elasticity of supply. 17. a) (uBomomleag ailel @enmiolaom
MBQaloer)ds.
b) ‘Identify the elastic and unitary elastic b) ef,os;@mggg@ WDNOHIE3 Desd
supply curves from the given diagram m)@ja, (13Om0 @ye1QaT geld
QIS (aIBOMo af) MU GGk},
v
o A
/ B
/ C
o X
Quantity Supplied
18. Diagram shows equilibrium income and output 13. ©0) oleaaien avmid (?‘gm«u,n@Ws)eJ
in a two sector economy. ruemeile ao)@omale Pelalmao AW
. . . OB ©HHOS)TIGIHO)aM).
Diagrammatically explain the effect of an y
) p ) ROESOCHMODTY MEBHIOTIIBNMROQNIN
increase 'autonomous investment on adamal mumele ae@onoolese
equilibrium income and output. DeinimEDeno DMEoEeM B0go WD
(0ODNOG  TVaNIVOMIGE  AflB 5]
¥ ES
AD v
AD=C + T +cY
E
%
0 Y Income X
19. Complete the chart. 19. ©96% 630s)om5)88 21083 aljdowilwo
B0,
Narrow money| M1 =...@) .+ ®) e galowme| M1 = .. @+ ®)
M2=M1 +. @ . M2=M1 +..09) .
@ © . - L@ M3 = . (8).. + aemim ameieglee
................. M3 = .. &), .+ Nettime deposits of mRp@rennw] Maosinamed
commercial banks Mi=M3  +...D
Ma=M3  +...BD. .

20. In 2 market with free entry and exit, the | 20. @RwWam Cldwam MIOGMNBS S0O)
demand function is ¢° = 700 —P and supply cBI:)(B(T).IOg(DTOﬂQQJ $2106M S wadamo
‘fnctionis g =500+ 3P. Find equilibrium price q° =700~ P mjo tossomwaaRo q° =300

. 3P @pyd,)amy). qvam adle afleiwyo qvamy
and quantity.
ell® al@1206MAL0 BeENBOM)d:.
21. &couog quaud AyUMNAIeAl aBeOm
21. lllustrate any 3 features of a market economy.

®1210 3 (G HOHUT Q0199 b.
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(DA

Answer any four of the following questions. Each question carries 4 score.
(agomBIene MOEl 2123363 AS POMONDLIM) . 4 aSe®0d anNmo)

22, From the following budget data calculate 22. IO OHIS)OMISIBS IRY BODEB
god mlamyo.
a) Revenuedeficit a) oaimy owanlavly
b) Fiscal deficit b) m‘q‘“’”‘fjﬂ;’“’ﬂ“‘“g
Item Amount o)A HOTEOOY
Capital receipts excludin 2mo D
apital receip g &S0 QARG BHHHWV)BS
borrowng 130 crores o)W MmaeAl 130 @08]
Revenue expenditure 100 crores oquny; ©atesdl 100 a8
Interest payments 10 crores el @osal 10 G@os)
Revenue receipts 60 crores oainy aloal 60 G08)
Capital expenditure 110 crores 2 eIM §a181al 110 308
73 Observe the diagram given. 723,  AW@Wo MO1BHUIE0)B>.
a) What does the point ‘A’ in the figure a)  WDOODIG @alo@a ‘A’ qo)aflaf
represent. HOYANODAR?
b) What is the significance of r max. b) rmax 6 (aldWOMo af) HICYE
¢) Elucidatethe relationship between rate of ¢) alelomiosso geruosnEleng aflermio
interest and bond price. omazlenga eumbo QUL SD DODO B>,
Rate of interest
r max
A
r min —
0 Speculative demand for mohey
n4.  QObserve the diagram. 24, Ao MRN8 B>,
MC
Cost/ Revenue B AC
AVC
P A AR= MR
0 q
Quantity
~a) In the diagram identify the short run a) WOWODICE qomidspy S1saoNv
supply curve of a firm under perfect HENUOSTHNOLRI (aOTVIBI! (aI30M
competition QU0 SHONBOTN .
b) Stateany threefactors determining supply b) (AIBOMETD MBERWIBO)MM GO
of the firm. @ano QM) CLISHEBUR af) QO
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25.

26.

27.

a) Distinguish between marginal propensity
to consume and marginal propensity to
save (MPC and MPS) .

b) éomplete the following consumption
schedule given that &= 100, MPC=0.6

25.

(A

a) 120  PalerOW lalQIEM @ ®)0,
20w qumuosy (aJUEM ® )0
GUB®N0) 201w b,

b) C=100,MPC=0.6 @A ELIGI Qal
GROW al5ld: oGO Clee)s.

Level of income (Y)

Consumption (C)

0
500
1000
1500
2000

‘GDP is generally considered as the index of

welfare of people’. However this generalization

may not be always true. Give any two reasons

to support your answer.

26.

BHMEHUD TV} 215200 Oalom)eas GDP
OWQ HEMBOVLOHASIAN). ag) MBI OB
TVOROMY AUMLOVEMo ) QO Ea0P)0
omﬂ@oce,m)s)mam%. mlesgyos aos
BBOZ TLOW)BHB1He)aN BN B:006Mea33
QY SO DO B,

Answer any two of the Sfollowing questions. Each question carries § score. ‘
(aggomelen. oms Cald3)\ 638 U3 d6) DOMOODYI M. 5 e ad anmo)

A consumer attains maximum satisfaction at the
point of optimum choice (Consumers
equilibrium). State the condition and
diagrammatically explain how optimum choice
of a consumer is determined.

28. Total quantity of fish supplied in the market is

affected as a result of the announcement of
trawling ban during the months of June, July by
the government. Graphically illustrate its effect
on equilibrium price and quantity of fish bought
and sold during this season.
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27.

28.

QalCBI6mY VM) eilmoaITunw)od 80)
20le86moal a10@0UU TVomyaioN@I3
) OTIE2 10N, TVAD)ENDOQITLN ag)oHy)
CalM@IMBs  Qijaiqun ad) 9} ?
WONOOB]HG TVa00ET»ONs Dalceo
et RELD T T Walle P P

R, WOO ROTVERS)I wandeang
(adeI30allen)an @ryessnsod @OTV Y ENIMUD
MMIRROWMo,  BHEMUIS O 63 T V|
OO (aIBOMST nIoUW8e)aM). @Y
2oV omIHG  qvam)eilo Qfleseno,
maelo alzosmonilane DEMROHO)ON

20Q0  AWDWOBIOMB TV OICE
QOBR066)H:.



TR

29. The price of paddy determined by the market

30.

and the price fixed by the government to protect
paddy producers are given in the diagram.

Price

NN

omgflond ;emuogaileiyo, OMENGIa]0B
SO0  TVa00W800mow] WMo
sy ANleI@)o WO OB0S)
O BlH0 N}

A

a) Name the governmental intervention
programme at price P, shown in the
diagram. '

b) Whatisits effect on supply?

c) Explain such government intervention
programme to help consumers.

(Hint :- Name of programme, its effect on
demand , its consequences)

Quantity demanded
and supplied

a) woWwomcd P aleiGd  &Hoem]
S9N DAUMORANF PSHaISE MS
alS) @GSN Gald ag)TH?

b) @ aflel (IBoMOmIG3 a) B anel
206N PEMROHN AN D2

C) DalGRIKDIBNNS QN ¥eleluo EToMep o)l
Mo aEMmHnnd MODOTTIC MS
BN DSOaIST3 AUlAUBIBH,

(arvyaIm @ @ald, Pabtelolamil=hlasciolzodea

aDelo, @PMANO aDLIA3U3)

Answer any two of the following questions. Each question carries 8 score.

(agom®xlenoe ome Gal031 M UBHS DOMHOHDYIDN . 8 alemmod arimo)

“RBI purchases (or sells) govt. securities from
the general public in a bid to increase (or
decrease) the stock of high powered money in
the economy”.
a) Identify the monetary policy instrument
mentioned in the statement.
b) List out any other two monetary policy
instruments used by RBI
¢) Explain how theinflationary pressures can
be controlled by using the above three
monetary policy instruments.

30. “©6a0alGQida aleMOmIeng

GUDELIO
adavlqleemow] (B1089)Q10MO )
RBI 0aismeaad & 3619108 §aloo)
aflatemlwicd alanyo QIOEBBYaM}.
(aNc3seeyamy)”’

a) (Uov®oaim@I@d aujallaflal atem
M@ Daldh06emMo @B1ajOTW b,

b) RBI galcoullesyam ag @s
Al6MM®  Daldoememud  eilqy
©.21Q .

C)  alsMenl0)edOD MIW(ATNEe I3
o) B}BSEB Vyaflafleeyan ayam
20QQREEBUB  af)6BBHM ©alGXoU
S9N} af AN AlUDBROBNB>.
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31

VAR

Observe the diagram. P31, wowo D018 09) 5.
MC
* Cost/
Revenue
P /A’ P=AR= MR
0
q q1 Quantity
a)  Name the market structure shown in the 2) WO Boema) dlse)am
diagram and state its features. SHEMIOB CAISHWOS  GalOOPI)
AW & (B (U ®0Qi 89} B>
b)  What are the short run profit maximising b) momoomeyss wemiog “&ISO’)V
.. . ©Imd 80) ©OIaIGM @emligial
conditions of a firm in such a market. N
(aOTVISHIBIOD  ald@dIW]  2I0R0
eMS; MM 88 UMNS U3
af)ODRJ00?
¢) Diagrammatically illustrate the long run C) DODEOMENSS  HEMUOBCLISM
equilibrium of a firm in such a market. Ve 30} @Iajosm @emlgloag
313eais00, qvamelmoaimun @
(OO TVLANIV OO QY SO R0
B6) s,

a) Write down the steps of measuring 32. a) #5lcadon 201010, QUOIBOM
national income by using Value Added 1o agyMaieyes e3wlo oI
Method and Income method. 2OMO HEMBHILNMDIMBG 0Llg

) Calculate NNP, . (National Income) 6BBU3 af) P9I Bs.
from the following data b) mBelV58e covaBgc mlamyo

NNP .. (eBul@aioy@omo) é0em)d.
Item in crores
a. Gross value of outpu 800
b. Depreciation 50
c. Intermediate consumption 200
d. Net indirect tax 40
€. Net factor income from abroad 100
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